{ &

3P

I
:

~

3P
qG40A

T
:
!

~

3p
G407

Iz
:
[

M

3p
qG40A

Iz
:
|

~

4

lo
v

qG40A
3

I
)
)

~

3P
46408
2

%{

F2-4
3P

i

B4A

qG40A

H1-3

P

|
I
5 :
g &2 A
& i AOSL/0Gh W G ozmx%
Z &2, L
% - ! A0SL/0Sh W ¥G OZAGA
e \
—0
=& Z AOSL/0G W XS OZAGAEAK
~ % L)
FooITpEae \_ EI
/('{ U b AOSL/0S MW GTXG 07AQA
= o2 l\
/({ | A0SL/0SH Ww G'LXE OZAA @
F = }\
/({ | AOSL/0Gh MW GLXE OZAOA @
s
= =5 A\ EI
/({ P A0GL/0GE W GG 07AQK
g o2 l\
/({ | AosL/osy wu e OZA(]AEI
g 1
e >z N EI
/({ P A0SL/0Sh W G 0zkOk
F o2 l\ H
/({ [ A0SL/0SH M G'Lxg 0zkA
B o Z k
/({ | MI/90 g ozsxm[{
s % :
. |
- == |
B rrpaee |
/('{ Uu = AOSL/0Gh W G'LXE OZAOA
=™
B Ipase \_
/{{ U _E AOSL/0Gh MW G'LXE OZAOA
B M haE< =
U A0SL/0SH JWw G7xg 0zAQk ™=

20A AC30mA

A0SL/0Gy WW G'IXZ AGK ©

NW-5b

NW-4  NW-5q

SSW

6+1

11+4

6+1

|
|
= o3 |
o — @ |‘\ =
/({ P MSL/0SE MW STxe okt 2
=
e Sx ,l\ ropc
/({ | A0SL/0Sy W GG 07k ™
o~ el 1
e S& N i
/({ : A0SL0Gy W 9G 0ZkQA ™
« |
|
g 1
| 8 S . e
/({ | A0SL0Gy W 9G ozkQk M
3
[ Sao |l\ ropc
/({ ! A0SL/0Gh 1w X5 0ZAQA M
& |
|
o a- —
o -« , =
/({ b M0SL/0S uw g7 oM
=
N o= L rapc
/({ ! A0SL/0Gy Wi G 0zAQA ™
S 1
& e N oy
/({ | A0SL/0G 1w 9xG 0ZQA ™
- |
-
& \_
/({ 3
= => N =
/({ L ASL/0GY M STxg ok 2
3
N x5 b s
/({ [ A0SL/0Gy ww §7xg ok - 2
& = % N =
/({ A0SL/0GH W G7xg 0ZA0A M 2
s
B e N =
/({ P MSL/0SE M §Txg ok 2
=
gE, == \ .
g /({ | A0SL/0Sh W GTHE 0zkh ™ @
= |
: L
= eZ N -
/({ R N2
=
& => \_ =
/({ D NSL/0GY w STE ok
3
2 => l\ =
/({ A0SL/0GH W G7x 0zA0A M 2
= 3
& => N e
/({ A0SL/0GH W 67X 0ZA0A M 2
s
H Iy =5 -l\ e
3 /({ [ A0SL/0Sh Ww G7xg 07AGA ™ 2
e 1
5 |
_ s [\
= = h
/‘{{ e D A0SL/0Gy W GxE 0ZiOn & ~
R |
| ASL/0GH W G'IXT AGK
=< ]
o (=1
= a5 Ao
/i{ b A0SL/0GE M GTIxg ozik E'
<C
2 a5 0G0 0 60+ o
/i{ A0SL/0GH W 'Ixg 0zAQk
<C
2 a5 N 05/050 0w §'1xg Ak + Q
/({ | A0SL/0GY MW G'Ixg 0ZAQk
=
= oz A\ 0SL/0Gh MW G'IXg AGA + R
/({ P A0SL/0Sh W G OZAA
N , N
| 0sL/0sy ww G ozAQk
/‘{{ i b A0SL/0GY B GTIxg ozAk & ~
=S |
. l
|
|

1250

|
Ta !

~400/230V L112,3N 1254
ol ﬁ: )

PE

ML/90 W 0/X] SXYA¥G

Ps=60,63[kW]

Ll o o
°l g |2 9. Ay
= 139 = (2]
S| e = |5 +<(
;_I < | Lol ©
e8 |88 |g | = =(>(
S |5 218 |4 é
© = [ j=
o 2
N = 2 |8
Iva = = <
L S o | S w
~ | &8 | &8
©o | B ol =2 | =8
~ = el e
(e} T |2
-~ o et b bi]
— | = o €Z|E R
Q > s | EFER
< | © S |¥5(%8
S = S By
= | N = gelgs
© . R
: Wz |Z 3535
u _ (=] o8| o8
] = = s2| =3
I SHES >~ gElgg
(n] ) O [ ; = =
3 Ele |20 5 |®
F ClEs|3| <
N w|lsg|9
a Z|29|2 |2
< < o | B g’ = | O
o 3 < | = 0| = [0) <
0 > o | 'a
o 8 1251|381
. S P o o o > | O < | =
og - 2zl |lcx [X|B
23 | 2o | = > | =
QfNg 3|3~ |27 s |28
N ¢« 0 [u] k-] 9 0 o - ,(D [$) =
Qigo 5[ =S| |g |72 | X | 8|
<zpw 2|10 09218 e R i =2 I
zzZW9 g = N + | 5| =
0 2l 2|5 O |W|E|SD
. 0 g || | ad| = o IS
. 8| = S|ls | €2 T | =
e -ad g ow [ ™ N || |[F].2
Zu~-0 3| < |29 |x| Q0w N2
<cunr-a 2fZ(O0s (= | C N SN
$0uwd - =|Tc .o = | o .
Lig == 3 ™~ o = | N
Emgb'g(DCD._Q(/)LD_EE
v = - o >
wigo 8|, 2] s
2 0 £ s X el LS| R
a3t 2|2 | = o | & S| $ | E
gsia B¢ |2 |3 R
u : | 3 s | 2 sl g5
o m3dr 3 k= o o j- 1) (% )
0
oy
(2]
I
-
O
N
o X
a M~
3ZOMDUMQIAR DIUSZILIOd |3 §",
pd
=B=da (D
pulkopjfuam pjpIjuR) |35 S| .%
~3 ha %
pulfoojyuam pjpayuay |13 S| .
N ﬁ
== fau 8
pulfoojfuam pjpIjuR) | S| %
[ <
=3=& d
1104ju20 DIUMIZIBON |75 | [y ]
I ! s =
~|= 2
a
=| =4 N
00 ZODRIZPIOY | B3| g
=1
=<
o
E =0 i.-:
09 ZODIZI0Y | 2 || — 8
S g
S
=[ =& 3
Jojpzhyowy |22 5| £
b= s
o
= =8 8
Jojpzhyowny |5 |- Y
=
= =& .
Zowny |<| s -
Jopzhpwiy |2 || — N
= 28
= =&
= 3
Jopzhyowry |« |-
=)
Lo ©
loozkpunpy | (= = F
X[ f— N
ouzijBumaz oxjsoupap |43 2
£
=08= ;
Anopbudomoaiuzgl Yuzobii |2 || s
= g‘t
g
E =0 ;
fmousiop WRSAS || | — =
S 3
k=3
= =« g
nd8jsop 0joAUOY | F | |— 2
= 2
= =& 3
VYO || =] 2
amoyfm ppzoiug || S| g
- g
~
aluezoaldzaqoq | o~ E
IURz910290Q || | ©
=
doo - |_|= =& g
(o=
amoyfjm opzoiug [ (S|~ X
! I u
j<3
=B=4 ~
fuzofipyep 191000] || = |y &
Sl N]
fmoind - oulfovamuoy 9314 |||y &
0 gl ~ =1 a
=
S| w
=3 = E
Anopb.domodiuzo) HUZobIA 13|z | %
5] par '
=8=ga
fzomozib vozi) | gl
=S
=B=ga
DRI (3| |
==
=0 =
fmopbidomooiuzos yuzablip |y s/
=S
L
doo - |_|F| ==
amoxyfm opzoiug || S|
o~
="= &
pmojojgpod pyioMAwy | S|
==
==
pmoinydoy DxIOMAWZ |3 s
N |—
|
=3 =
fmopbidomodiuzos yuzoblip | S|
3=
~
o
L
auddjsopoujgbo | || ==
amoyAim opzoiug (< g —
auddjsopoujgbo | || ==
amoxfm ppzoiug [ g -
L
auddjsopoujgbo | (| ==
amoyfm ppzoiug [ g -
auddjsopoujgbo | || =
—
amoyfm ppzoiug [ 8
audyjsopoujobo | || ==
—
amoyfm ppzoiug [N 8
=B=
fmopbudomooiuzgs yuzodbif | S| | R
= - =
Sl S
~N
=
o o
~ ~N
—
=
L
audyjsopoujgbo | [ZB| == e
o5, 1=,
amoykjm opzoiug [ 8| o
— =
auddjsopoujobo | _ (| = =
Jua |2 = |— [S)
oMo opzowg |~ (S =S
g5
audhsopoupgbo | || == = =
R L PN ) oo
amoxyfm ppzoiug g Z N
; Nt
=| =& o o
auddjsopoujobo | _ (= & o &>
anoyym opzowg | =S|~ 3 2
M DPZOUY | | = o =
==
auddysopoujobo | || =
’ [En] PR = o
amoym opzowg || S S
=== % QC—)
fnopbadomoaiuzos yuzabjhp | = sl 8 =
=S| > 3
| (=]
Z == ST
QUZIBUMRZ BUBRINSQ [ | S| — -
= ==
S
~ 5| S8
9y 7 JUDMORIS || [ S
(&) —
N D
= =g % o o
aulkonnypma SUB[RINGQ) | = .| — 2=
: N =1 S S5 .2,
= © =0
= =& =) g =
0}0/quek + SUBANS) | 2| | — L o
= f— o
[ b)
=| =& RSER. %
0}0/quak + BUBANS() |on| 5| — g = =
S| N2 o
& X
= =8 SIS
ZIBUM B1UBBINS() |00 | = | s S ™
= = o &
O \O =
= =% 3
aulfioAD BIUBRAIMSQ) |~ | = | — S T w
S £, 2
o
=l =< = S N
ZIBUM BUBJAINSO |0 | o |— > g o
= O =
& =2
f = e g-.g
UIqDIsIq YUZDRZId [wof |- oS N
ceg
~— j=2
== = 2 >
fmopbidomooiuzos yuzoblp < = S = N
== o @ =
) +— O O
== w g —
D1o3idou - |5 > X >
1950U93G0 D[oDZI|PUDAS » =2
= o =
~> _ Ll o DL
idozid puzowbg || | oSN
== = 8‘ =3 -
ZsElao=a| —=
o T o =
BIUDISDZ |+ ey <§E
~|—
hndd > 0

owoizod ¢y




